
Part #	 QUANTITY

D063	 1

D109	 1

G308	 4

H34B	 4

A613-39B	 2

BG531	 2

A02	 1

A06	 1 

A69	 1 

Warehouse Use Only

Part #:	 H2162B 

Dimensions:	 8” X 8” X 40” (Telescopic) 

Weight:	 ???

8 x 67

8 x 64

8 x 58

8 x 51

8 x 40

8 x 16

8 x 12

39
45
50
56
57
62
63
64

H1
M series

HW

HW

HW

HW

Instuction
Manual

HW

HW

Instuction
Manual

B



REQUIRED TOOLSPRODUCT INFO

1/2” Wrench

Power Tool with Phillips Head

Part #:		 H2162B

System: H1 Series

Material:		 Aluminum

Fitment:		 Transit Connect 2008-13

Color:		  Black



PART # DESCRIPTION QTY ITEM
ITEM NOT DRAWN TO SCALE

B018 5/16” X 1 3/4” CARRIAGE BOLT 2

B244 M8-20 HEX BOLT 4

B201 TAP SCREW 8

W008 5/16” X 3/4” WASHER 4

W022 5/16” LOCK WASHER 4

N016 5/16” KNOB 2

H34 H1 MOUNTING BASE 4

A613-39 2” X 1” X 39” CROSS BAR 2

A02 LADDER GUIDE 1

A06 LADDER STOPPER 1

A69 EZ-VELCRO STRAP 1

G308 2” X 8” GASKET 4

BG531 RUBBER BAR GUARD 31” 2



Plastic Bar Guards for steel cross Bars 

 
- Remove wax paper from plastic bar guard  
and adhere it to the top of the Cross Bar.   
 
- Leave 4” on each end

EZ-Velcro Strap Directions

A613H34

H34

G308

REAR

FRONT



90°

Make sure the mount is 
upright before securing

90°

B201

Front Rear

Front

Ladder Stopper

Rear

Velcro Strap

Ladder Stopper Velcro Strap
Ladder Guide

B018 B018A06

N016N016

A02

Factory Mounting Point

B244

W022

W008

Vantech provides the best in truck and commercial van equipment.

https://www.carid.com/vantech/
https://www.carid.com/commercial-van-equipment.html



